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- AY1R=V45 pYa&slAc 3 1=363(40A146YY»h 4239 100,000.0 100,000.0 -
8. U»A1A4603ICY TA3 - A»AC CAZT3Y3640U 118,200.0 118,200.0 -
- DO TSWTST3Y 136340Ala0YY»h 4234 8,200.0 8,200.0 -
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352,136.5
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227,830.4
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5. A3+3640 I»Y13YCV»AC IY363»Alail 115,000.0 115,000.0 -
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31 ATa0
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- 2[f [=Eé»h

4861

1,436,554.4
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3c31640A130u CAST3Y36i40 ©A3YC
cABUBT3I3BABAU3Y u3irt3i03Y IA3-Ci
(B3TTCABIT31 EC334AE0AI40Y Y»A)

958,684.0
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6. T3A63/31Y»AC E3NE&3Y400 26,781.6 26,781.6 -
- AYA=6CT 1A=U3RYAANY»A &»n313Y 4638 26,781.6 26,781.6 -
N=20=3Vo=CY =3¢ wA=ICY T3%UST»AAA0AIAYY»ACY
7. T3U3A3Y6400Y»AC =~ 3lE BCYAAIZ0Y V»AC 35,000.0 35,000.0 -
I»A3Yans-40U0 "~ - 40Y33p3A1460
- P»YU»AC " T2640l6Y»AC AYAS6CT Yana- a0 4251 35,000.0 35,000.0 -
a=N&=vail
8. TA3A3IcY E3 1B - 30uY»Ac Yaha - a6l 53,000.0 3,000.0 50,000.0
- P»YU»AC " T2640l6Y»AC AYAS6CT Yana- a0 4251 3,000.0 3,000.0 -
a=N&=vail
- b»YU»AC ~ RCYADAIAGYY»AC TSACT St T»A3YaA4-40U | 5113 50,000.0 - 50,000.0
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= ol “laie»WS(CY TSES»AC -anT=63T3Y 136313703y | o 3 ATasu
= = % = u?ACYY»ﬁQ, EUp»ic = 13exfiC, CYiare Y3 3 = AV130»YA
o2 3| E Eﬂ plase» T SICY TSEE»AG 1Y 13 -Cor=T3Y 2= T35313Y plade» | yayr=(CY ulase»
a| = 12E313. U3V NALT2TY»AC 3V T2VAUT»AA =
1 (2|34 5 6 7 8 9

9. T40400= - I»AC 136400400 ~ I»A3Y4ha - 460 4,000.0 - 4,000.0
- b»YU»AC " RCYADAIAGYY»AC TSACTSE T»A3YaA4-40U | 5113 4,000.0 - 4,000.0

2700070 | O 2gadz=2a2pacAlasy 324,000.0 12,000.0 312,000.0
31 ATa0

2710|107 | 1 | O | “ABI=T3Y S&A3YaY»A, 63A0»A 78,000.0 - 78,000.0
E3AU3TaAAUY»A
&RCo

2711107 | 1 | 1 | »0=-4R13T3Y S&A3YUY»h 78,000.0 - 78,000.0
31 ATa0
1. 2640c383N313Y I'3BU31»A840AI40Y Y»AC 78,000.0 - 78,000.0
N303A uyABIZT3Y 6303 4A40UY»AC
O»éuu»Adol
- 2[f U»U»Y3Y»fi ~ 63A03 TanaUY»h 5129 78,000.0 - 78,000.0

2760|07 | 6 | O | 2640c383NaoAladY (S 13é»ACY 246,000.0 12,000.0 234,000.0
483113Y40)
&RCo

2761|07 | 6 | 1 |2640¢=2a=3N=3T=3Y N=3A3TC6 1=36340Ala0YY»A 246,000.0 12,000.0 234,000.0
A= - finfi
31 ATa0
1. 2640c383N3T13Y aui»T'TY»AC 194,000.0 - 194,000.0
NeuY=Yana - 46U
- b»YU»AC ~ RCYADAIAGYY»AC TSACT St T»A3YaAa-40U | 5113 194,000.0 - 194,000.0
2. _AT3A3U3TEC N» T33a 1 40AI40Y V»AC 12,000.0 12,000.0 -
CAZT3Y3646U
- @36Y=3-CU3T3Y 1363{a0AlasYV»h 4241 12,000.0 12,000.0 -
3. 2640c3&43N313Y 13403 1»A840AI40YY»AC 40,000.0 - 40,000.0
N3U3f - 46luC O»é0 u»Aasl
- UldoA»f ~ A== -3Y»h 5221 40,000.0 - 40,000.0

280008 |0 | O P20 £eT, @p2TaolA i Taal 3,325,356.4 2,575,356.4 750,000.0
31 ATa0

2810|08| 1 | 0 |P3Y-67C " E834ATC I363/40AI46YY»A 451,569.7 201,569.7 250,000.0
&RCo

281108 | 1 | 1 |D3Y-6WC = eQaRWC 1=363{a0AlasYY»h 451,569.7 201,569.7 250,000.0
31 ATa0
1. 63401 3IgY UCca636400Y»AC 109,569.7 109,569.7 -
I33BU31>»A8400
- AY13VasA uYaslAC 3k 1363(aAlasYY»fi 4239 109,569.7 109,569.7 -
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= “laie»WS(CY TSES»AC -anT=63T3Y 136313703y | o 3 ATasu

= [l L N v Sn O s \empee

Ez 5 3 =2 HSAGYY»AC, EUPAC ~~ 138xAC, CYadne Y= 3 > AV12UsTA

o2 3| E Eﬂ plase» T SICY TSEE»AG 1Y 13 -Cor=T3Y 2= T35313Y plade» | yayr=(CY ulase»

a| = 12E313. U3V NALT2TY»AC 3V T2VAUT»AA =
1 |23 |4 5 6 7 8 9

2. D3Y-EUC -dWCY»AC ~ Budé3]- CY»AC 280,000.0 40,000.0 240,000.0
136400400 46 3N&3Ya0U
- 2[f AYA=6CT 1A3U3RYAANY»A 4639 40,000.0 40,000.0 -
- b»YU»AC " BCYABAIAGYY»AC T3é45640U 5112 240,000.0 - 240,000.0
3. D> IBYT3NABE3AZIC 3N3 - 4A 1460 62,000.0 52,000.0 10,000.0
- AY1R=V45 pYa&slAC 3 1=363(40A146YY»h 4239 52,000.0 52,000.0 -
- TABYEAAAT3(CY 63fu=TanaUuy»h 5121 10,000.0 - 10,000.0

2820|08 | 2 | O |@B3TA0A3ICY [363a0Ala0YY»ii 2,786,461.7 2,286,461.7 500,000.0
&RCo

2821|108 | 2 | 1 |TASISAZYY»A 452,965.7 452,965.7 -
31 ATa0
1. TASI3[3Y3(cY [363a0AlaoYY»i 452,965.7 452,965.7 -
- BABPECLIC3Y»A 44 YCYBYEST3Y &»T3T3Y 4511 452,965.7 452,965.7 -
(N=3U3YU=ICY) T3%UST»AAA0AIAY Y »ACY

2822|108 | 2 | 2 |A=3Y-3A3YY»A ~ 64636A3NY»f 251,995.4 251,995.4 -
31 ATa0
1. A3Y-3A3Y3(cy [363a0Alaoyy»ai = 251,995.4 251,995.4 -
- BABUECLIC3Y»A 44 YCYBYEST3Y &»T3T3Y 4511 251,995.4 251,995.4 -
(N=3U3YU=ICY) T3%UST»AA4A0AIAGY Y »ACY

2823 |08 | 2 | 3 |@R3TAHAC WY»f, STaUUY»f, T»Y TAAYY»f 110,915.8 110,915.8 -
31 ATa0
1. D3U3Yo3igY UBZTE0IAC ~ 3331 A303Y6¢ 110,915.8 110,915.8 -
I33BU31>»A8400
- BAUECLIC3Y»A 44 YCYBYEST3Y &»T3T3Y 4511 110,915.8 110,915.8 -
(N=3U3YU=ICY) T3%UST»AAA0AIAGY Y »ACY

2824108 | 2 | 4 |=2[f UR=TAIAZICY T3HUZT»AAA0AIAEYY»h 1,482,877.1 982,877.1 500,000.0
31 ATa0
1. OB3TA6A3ICY UCcAd3640UY»AC 730,805.7 730,805.7 -
CAZT3Y3646U
- aluC  e3AUS TaRaUY»AC TSA0ST3ta0Ala0Y 4216 4,400.0 4,400.0 -
- AY1(3VasA uYaslAC 3k 1363(aAlasYY»fi 4239 692,405.7 692,405.7 -
- 2[f AYA=6CT 1A3U3RYAANY»A 4639 20,000.0 20,000.0 -
- UTCA=T TasAlasyY»i 3l =flasld al>r=ay1a 4819 14,000.0 14,000.0 -
T3UUST»AA40AIA0YY»ACY
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= “laie»WS(CY TSES»AC -anT=63T3Y 136313703y | o 3 ATasu

= [l L U v Sn O s \empee

c = % = u?'ACYY»nQ,,E'Up»nC 380G, CYdare Y= 3 = AV130»YA

o2 3| E Eﬂ plase» T SICY TSEE»AG 1Y 13 -Cor=T3Y 2= T35313Y plade» | yayr=(CY ulase»

a| = 12E313. U3V NALT2TY»AC 3V T2VAUT»AA =
1 (2|34 5 6 7 8 9

2. T»Y13y3u3y313y 3. 4§ 252,071.4 252,071.4 -
040031A40AI46YY»A
- BABUECLIC3Y»A 44 YCYBYEST3Y &»T3T3Y 4511 252,071.4 252,071.4 -
(N=3U3{YU=ICY) T3%UST»AAA0AIAGY Y »ACY
3. I»Y13Y3y3Y3[3Y 3)- 46 NCUY3Y4A4 - 40U 500,000.0 - 500,000.0
- b»YU»AC " RCYADAIAGYY»AC TSACTSE T»A3YaAa-40U | 5113 500,000.0 - 500,000.0

282508 | 2 | 5 |2fi»eW 473,707.7 473,707.7 -
31 ATa0
1. CABABT3Ai»ETC "~ 83A3AI»E1C 111,651.3 111,651.3 -
N3Ux»A - Y»i
- BAIPECLIC3Y»Ml 43 YCY3VEST3Y &»u3T3Y 4511 111,651.3 111,651.3 -
(N=3U3YU=ICY) T3%UST»AA4A0AIAGY Y »ACY
2. ABI»A3I3Y Y»AI3/36460Y»1A 362,056.4 362,056.4 -
- @40PECIC3Y»A 48 YCY3YEe3T3Y &» w313y 4511 362,056.4 362,056.4 -
(N=3U3YU=ICY) T3%UST»AAA0AIAGY Y »ACY

2827|108 | 2 | 7 |PAIRZAOBYY»AC  URSTAASICY SAA»UY»AC 14,000.0 14,000.0 -
»A3T3Y - Yail ~ a3(a3vail
31 ATa0
1. DAGB3A0BYY»AC I»A3Yaria-ail 14,000.0 14,000.0 -
a3Na3vaoU
- AY2R=V45n pYa&slAC 3 1=363(40A146YY»h 4239 6,000.0 6,000.0 -
- P»YU»AC " T2640l6Y»AC AYAS6CT Yana- a0 4251 8,000.0 8,000.0 -
a=N&=vail

2830|08| 3 | 0 |@31(04 ~~ N»é4oe 13N304A1460Y»AC 56,000.0 56,000.0 -
N»83A0ZTU3Y ~ NAST3A3154313Y
13631464146V Y»i
&RCo

2831|08 | 3 | 1 |D»éatew=¢=1CaN=04ar1aiUY»f 56,000.0 56,000.0 -
31 ATa0
1. 303038»T3A3YC SRE3T3Y0Y»AC 56,000.0 56,000.0 -
f4063u=vYail
- @36Y=2-Cw3T3Y 1363{a0AlasYY»h 4241 56,000.0 56,000.0 -

2840|08| 4 | 0 | TA&Y3I3Y =~ N=63A=31313Y 3 31,325.0 31,325.0 -
[ 36340440V Y»A
&RCo

2843 |08 | 4 | 3 |TRAYST3Y " (=263A3T3T3Y 3 1=¢3(40Ala5YY»A 31,325.0 31,325.0 -

SENSE)
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“lade» W 2CY TSE&»AC -afl=63T3Y 1363T3/.03Y | & 31 ATa0

= 3| oy Y. S ‘o . =]

Ez 5 3 =2 HBACYY»AC, EU»AC ~ 13¢xfiC, CYadme Y3 e AVL30nVA

o2 3| E Eﬂ plase» T SICY TSEE»AG 1Y 13 -Cor=T3Y 2= T35313Y plade» | yayr=(CY ulase»

a| = 12E313. U3V NALT2TY»AC 3V T2VAUT»AA =
1 (2|3 |4 5 6 7 8 9

1. 2Y13U31640AI3Y ix3AY»f 31,325.0 31,325.0 -
- UTCA=T TasAlasyY»i 3l s=flasld al>r=ay1a 4819 31,325.0 31,325.0 -
T3UUST»AA40AIA0YY»ACY

2900(09|0 | O ToAasAlaU 28,235,694.5 26,965,694.5 1,270,000.0
31 ATa0

2910(09 | 1 | 0 |UBE3147A46313Y T3AA3I3Y AYIN3YE0A 14,920,419.7 14,750,419.7 170,000.0
TAA&0AIAsY
&RCo

2911|109 | 1 | 1 |USE=314/463T3Y TAAaoAlasY 7,893,142.7 7,723,142.7 170,000.0
31 ATa0
1. USE318A46313Y 406406460 7,714,614.8 7,714,614.8 -
- AY13VasA uYaslAC 3k 1363(aAlasYY»fi 4239 1,600.0 1,600.0 -
- BAUECLIC3Y»A 44 YCYBYEST3Y &»T3T3Y 4511 7,713,014.8 7,713,014.8 -
(N=3U3YU=ICY) T3%UST»AAA0AIAGY Y »ACY
2. UBE=315/46313Y 406406U3Y A 170,000.0 - 170,000.0
I3BU3T»>A803Y N3U3A SYNAZ3A»BT - 46/0C
O»éu u»Adol
- 2 U»U»Y3Y»A " 63A0= TaRaUY»A 5129 170,000.0 - 170,000.0
3. USE3147146313Y 1nAadAlacy 8,527.9 8,527.9 -
(B3TICAZTT3 EC334AA0AIA0Y V> )
- BAIPECLIC3Y»Ml 43 YCYSVEST3Y &»u3T3Y 4511 8,527.9 8,527.9 -
(N=3U3YU=ICY) T3%UST»AAA0AIAGY Y»ACY

2912|109 | 1 | 2 |T3AAST3Y AYLIN3VYaoA TRA&SAIASY 7,027,277.0 7,027,277.0 -
31 ATa0
1. D3YASTAASI3Y 466460400 6,230,956.6 6,230,956.6 -
- BAIPECLIC3Y»Ml 43 YCYSVEST3Y &»u3T3Y 4511 6,230,956.6 6,230,956.6 -
(N=3U3YU=ICY) T3%UST»AAA0AIAGY Y »ACY
2. D371 461 1544040467 160,021.8 160,021.8 -
- BAIPECLIC3Y»Ml 43 YCY3VEST3Y &»u3T3Y 4511 160,021.8 160,021.8 -
(N=3U3YU=ICY) T3%UST»AA4A0AIAGY Y»ACY
3. U»A36313Y 1hA4cAla6Y 636,298.6 636,298.6 -
- BAIPECLIC3Y»Ml 43 YCY3VEST3Y &»u3T3Y 4511 636,298.6 636,298.6 -
(N=3U3YU=ICY) T3%UST»AA4A0AIAGY Y»ACY

2920|109 | 2 | O |@CeY3T3A- AYIN3YAdA TAAEAIAGY 9,291,700.2 9,291,700.2 -
&RCo

2921|109 | 2 | 1 |BCUY=T3Y AYAN=Yadn ThAASAlAGY 9,032,054.5 9,032,054.5 -

=t ATai0
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“lade»r3ICY I2EE»AC -aAT3¢3T3Y 1363T3/-03Y | T 31 ATa0

= 3| oy Y. S ‘o . =]

Ez 5 3 =2 HSAGYY»AC, EUI»AC ~ 238xfiC, CYadne Y3 3 > AV12UsTA

o2 3| E Eﬂ plase» T SICY TSEE»AG 1Y 13 -Cor=T3Y 2= T35313Y plade» | yayr=(CY ulase»

a| = 12E313. U3V NALT2TY»AC 3V T2VAUT»AA =
1 (2|34 5 6 7 8 9

1. D3YASTAASI3Y 406406460 8,083,390.9 8,083,390.9 -
- BAIPECLIC3Y»Ml 43 YCY3VEST3Y &»u3T3Y 4511 8,083,390.9 8,083,390.9 -
(N=3U3{YU=ICY) T3%UST»AAA0AIAGY Y»ACY
2. D37 461 17A46AIa6Y 210,957.1 210,957.1 -
- BAIPECLIC3Y»Ml 43 YCY3VEST3Y &»u3T3Y 4511 210,957.1 210,957.1 -
(N=3U3{YU=ICY) T3%UST»AAA0AIAGY Y»ACY
3. U»A=36313Y 1AdiAlasy 727,785.8 727,785.8 -
- BAPECLIC3Y»A 44 YCYBYEST3Y &»T3T3Y 4511 727,785.8 727,785.8 -
(N=3U3YU=ICY) T3%UST»AAA0AIAGYY»ACY
4. CA»T4/=3Y 1HAdcAlasy 9,920.7 9,920.7 -
- @40PECIC3Y»A 48 YCY3YE3T3Y &» w313y 4511 9,920.7 9,920.7 -
(N=3U3YU=ICY) T3%UST»AA4A0AIAGY Y »ACY

2922109 | 2 | 2 |@CeY=3T=3d- (FACT) AVIN=Vasn TrA&sAIASY 259,645.7 259,645.7 -
31 ATa0
1. D3YASTAAST3Y 406406460 195,771.4 195,771.4 -
- BABUECLIC3Y»A 44 YCYBYEST3Y &»T3T3Y 4511 195,771.4 195,771.4 -
(N=3U3{YU=ICY) T3%UST»AAA0AIAGY Y»ACY
2. D37 461 17Ad6AIa6Y 41,597.2 41,597.2 -
- BABUECLIC3Y»A 44 YCYBYEST3Y &»T3T3Y 4511 41,597.2 41,597.2 -
(N=3U3YU=ICY) T3%UST»AA4A0AIAGY Y »ACY
3. U»A=36313Y 1AdiAlasy 616.8 616.8 -
- @40PECIC3Y»A 48 YCY3YE3T3Y &» w313y 4511 616.8 616.8 -
(N=3U3YU=ICY) T3%UST»AAA0AIAGY Y»ACY
4. CA»T4/=3Y 17AdcAlasY 21,660.3 21,660.3 -
- BABUECLIC3Y»A 44 YCYBYEST3Y &»T3T3Y 4511 21,660.3 21,660.3 -
(N=3U3YU=ICY) T3%UST»AA4A0AIAGY Y»ACY

295009 | 5 | 0 |A6T USISA13TYoA( 41363130 - 140 3,433,772.2 2,883,772.2 550,000.0
TAA&oAl46Y
&RCo

2951|109 | 5 | 1 |2AW31ARA6ST3Y 136 WC3A3TaoAl40Y 3,433,772.2 2,883,772.2 550,000.0
31 ATa0
1. 2ZAT318A46313Y 1367 C3A3140AI46Y 2,673,083.0 2,673,083.0 -
- AY2R=V45n pYa&slAC 3 1=363(40A146YY»h 4239 56,677.8 56,677.8 -
- BABUECLIC3Y»A 44 YCYBYEST3Y &»T3T3Y 4511 2,616,405.2 2,616,405.2 -
(N=3U3YU=ICY) T3%UST»AAA0AIAGY Y»ACY
2. 2ZAT318A46313Y 13303 1»A840AI406YY»AC 500,000.0 - 500,000.0
NCUY3Y4i4 - 460 = i»A3Yaha - 46U
- P»YU»AC ~ RCYADAIAGYY»AC TSACTSE T»A3YaA4-40U | 5113 500,000.0 - 500,000.0
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= “laie»WS(CY TSES»AC -anT=63T3Y 136313703y | o 3 ATasu

= [l L U v Sn O s \empee

c = % = u?'ACYY»nQ, EUp»fiC ™ 2=8»AC, CYdd»e Y= 3 = AV130»YA

o2 3| E Eﬂ piade» W CY TSEE»AC WY T »E3-CH3T3Y 2= T35313Y plade» | yayr=(CY ulase»

a| = 12E313. U3V NALT2TY»AC 3V T2VAUT»AA =
1 (2|34 5 6 7 8 9

3. §D314u Tacal=3Y} 1AA3N=U3kch da=>T- 7,980.2 7,980.2 -
400 BAT318A46313Y 1360 C3A3140AI3Y
I3yU3I»Adail (A3 TICASIT31
EQ 3%&’/7&74@(7??»[72
- BAUECLIC3Y»A 44 YCYBYEST3Y &»T3T3Y 4511 7,980.2 7,980.2 -
(N=3U3YU=ICY) T3UUST»AA4A0AIAGY Y »ACY
4. OABART3I3Y ~ SAI»EWC LAA40Y»Adil 162,709.0 162,709.0 -
3Y.- 3oy F3A3CY ~ =403UcY Vi3 - 3A3YY»AC
- [47 406406460
- AY1R=V45 pYa&slAC 3 1=363(40A146YY»h 4239 162,709.0 162,709.0 -
5. 2ZAT3187046313Y 13403 1»A840AI40YY»AC 90,000.0 40,000.0 50,000.0
N3U3A SYNA3BA»BT - 40l0C O»éu u»idol
- UTCA=T TasAlasyY»i 3l s=flasld al>r=ay1a 4819 40,000.0 40,000.0 -
T3UUST»AA40AIA0YY»ACY
- 2[f U»U»Y3Y»ii ~ 63A03 TanaUY»h 5129 50,000.0 - 50,000.0

2960|09 | 6 | 0 | TAA4GAIZYA TASUS17T40 0A=Y13T 589,802.4 39,802.4 550,000.0
T36340AI46Y Y»i
&RCo

2961|09 | 6 | 1 | TAA&AISYA TASU=31AT40 0A=Y13T 1=363{40Ala0Y Y»h 589,802.4 39,802.4 550,000.0
31 ATa0
1. UBE318A46313Y N36 w31 40AI46YY»AC 552,000.3 2,000.3 550,000.0
NCUY3Y4i4 - 460~ i»A3Yaha - 46U
- b»YU»AC  T3640l6Y»AC AYAS36CT Yana-asU 4251 2,000.3 2,000.3 -
a=N&=vail
- b»YU»AC ~ RCYADAIAGYY»AC TSACT St T»A3YaA4-40U | 5113 550,000.0 - 550,000.0
2. . BA46313YY»AC GECUBC313Y»AC ~ 3 21,200.0 21,200.0 -
UCcd636840UY»AC 13%U31»A846U
- AY2R=Vas pYa&slAC 3 1=363(40A146YY»h 4239 21,200.0 21,200.0 -
3. E40C3H38»8 BYSE3NAT SB3I»ATY»ACY 729.7 729.7 -
3Yix3fi 1363 flu»Adl S&3Narail
(BT ICAZTT3I EC34%3R40AI40YY»1)
- 2[f AYA=6CT 1A3U3RYAANY»A 4639 729.7 729.7 -
4. 2U»ET3T4AU3Y UCcddai an313ianasy 15,872.4 15,872.4 -
EW 3031 406406CAY»ACY N3 I»E3 Tx3AY»AC
TA30327400 (A3 TICAZIT=1
EQ 3%&’/7&74@(7??»[72
- AYA=6CT 1A=U3RYAANY»A 8»n313Y 4637 15,872.4 15,872.4 -
N=2U=VaY»AC 4d 3é wiAzicY
T34 T»AAA&0AIAYY»ACY

3000(10| 0 | O €a0k=2E2T20 a2pT1a=20a0Alacy 1,905,087.4 1,905,087.4 -
31 ATa0

3070(10| 7 | O | 846C3E313Y N3 1461 SATAYA0AI40YY»i (SIF 686,590.5 686,590.5 -
13»ACY 4831T3Y40)
&RCo
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= ol “laie»WS(CY TSES»AC -anT=63T3Y 136313703y | o 3 ATasu
I USACYY»AC, EUpsTIC =™ 136»AC, CYa8»E Y3 3= AvisUsVA
o2 3| E Eﬂ plase» T SICY TSEE»AG 1Y 13 -Cor=T3Y 2= T35313Y plade» | yayr=(CY ulase»
a| =2 1363737 U3Y NAaL TSIV 3V T3Va50Y»iA =
1 (2|34 5 6 7 8 9

3071|10| 7 | 1 |@40C3E3T3Y N=wasT SAwAaYaiAlasyY»h (3 686,590.5 686,590.5
13¢»ACY 83T T3Y40)
31 ATa0
1. 46C3#38»6 3YSE3NAT AYT3YCUY»iAC 6,507.0 6,507.0
»A»E3Y»AC N3Y - 81 C IBBU31»A8400
- aluC  e3AUSB TaRaUY»AC TSAOST3ta0Al40Y 4216 3,477.0 3,477.0
- AY1R=Va5 pYa&slAC 3 1=363(40A146YY»h 4239 2,180.0 2,180.0
- 2[f AYA=6CT 1A3U3RYAANY»A 4639 850.0 850.0
2. D3A3Y37 440Y»640 3Y03Y6 29,973.5 29,973.5
E40C3E386 SYSE3NAT AYH3YCOY»AcC
N3U3A Na603AT3T4A40AI3Y 13403 1»A8400
- AY2{=Vasn pYa&slAc 3 1=363(40Al46YY»h 4239 29,973.5 29,9735
3. 840C3£38»6 3Y3E3NAT AYT3YCuY»icy 392,715.0 392,715.0
VAYSI3Y " NCBSWSIC Of»ACY S¢31640Ala6Y
- aliC  e3AUSB TaRaUY»AC TSAO0ST3ta0Al40Y 4216 4,500.0 4,500.0
- AY13VasA uYaslAC 3k 1363(aAlasYY»fi 4239 12,400.0 12,400.0
-D3WAT YAS21=3(CY 3 YidsA»h 4269 102,184.5 102,184.5
- 2t AYA=6CT 1A3U=3/YaANY»A 4639 186,915.5 186,915.5
- 2t Y= Y»h pliadc»Co 4729 20,115.0 20,115.0
- UTCA=T TasAlasyy»i 3 =flasld al>r=ay1a 4819 66,600.0 66,600.0
T3UUST»AA40AIA0YY»ACY
4. 40C3E38»6 SY3E3NAT 3Y03Y6 226,195.0 226,195.0
Sc31640Alasy
- aluC  e3AUSB TaRaUY»AC TSA0ST3ta0Al40Y 4216 4,820.0 4,820.0
- AY1R=V45 pYa&slAC 3 1=363(40A146YY»h 4239 21,800.0 21,800.0
- D3 AT YA W21=(CY 3 YidsA»h 4269 1,720.0 1,720.0
- 2[f AYA=6CT 1A3U3RYAANY»A 4639 21,600.0 21,600.0
- 2t YA Y»h pliadc»Co 4729 43,410.0 43,410.0
- UTCA=T TasAlasyy»i 3l s=flasld al>r=ay1a 4819 132,845.0 132,845.0
T3UUST»AA40AIA0YY»ACY
5. D3E3AZIZ13Y 1340318404140V Y»ACY 31,200.0 31,200.0
Sc31640Al46Y
- UTCA=T TasAlasyY»i 3l =flasld al>r=ay1a 4819 31,200.0 31,200.0
T3UUST»AA40AIA0YY»ACY

3090(10| 9 | 0 | 846C3E3T3Y &3BUA3YAdAl46Y (3IF 1,218,496.9 1,218,496.9
13»ACY 4831T3Y40)
&RCo

3091|10| 9 | 1 |@40C3E3T3Y A3RWASYAAIAIY (S 136»ACY 365,216.9 365,216.9
4A3T1=2Y40)
31 ATa0

37




= “laie»WS(CY TSES»AC -anT=63T3Y 136313703y | o 3 ATasu

= [aill L N o~ D a pemen

c = % = u?'ACYY»nQ, EUp»fiC ™ 2=8»AC, CYdd»e Y= 3 = AV130»YA

o2 3| E Eﬂ plase» T SICY TSEE»AG 1Y 13 -Cor=T3Y 2= T35313Y plade» | yayr=(CY ulase»

a| = 12E313. U3V NALT2TY»AC 3V T2VAUT»AA =
1 (2|34 5 6 7 8 9
1. 840C3E313Y (- YAGAIZY [=363JaAIaYY»AC 365,216.9 365,216.9 -
- A 140Y»a6AI3Y 13303108400

(BT ICAZTT3I EC34%3740AI40YY»1i)
- 2RE=T1A0Y»AC SRESTST3A0»A 4111 349,695.7 349,695.7 -
N3 T»E3 Tx3AY»A
- %WY»A-»WCT 1263[a0AIa6YY»f 4212 5,635.3 5,635.3 -
- Tal&sY3t 1=363{a0Alasy Y 4213 170.2 170.2 -
- T2AC 1363{a0AlasYY»h 4214 1,870.6 1,870.6 -
- aluC T e3AUS TaRaUY»AC TSAOST3ta0Al40Y 4216 810.0 810.0 -
- U»AUCY - &fT450460Y»f 4221 48.0 48.0 -
- @HU»YRY»AC 6303 TaRaiUY»A¢ AYA=6CT 4252 1,100.2 1,100.2 -
Yafia- &l ~ a=N&=vail
- TASE»YIST2ICY VidsA»A -~ N=- 456w 4261 4,196.1 4,196.1 -
- TASYEAANT3ICY YiaoA»A 4264 1,062.6 1,062.6 -
- T»Y6303(CY ~ NSYASICY eYY1G YidoA»f 4267 579.0 579.0 -
- A3AT31CA Tx3AY»f 4823 49.2 49.2 -

3092| 10| 9 | 2 |@4OC3E3T3Y 3R W ASYAAISYA TASU=31AT40 853,280.0 853,280.0 -
0A3Y13T 1=363(40Al40YY»h (S 13é»ACY
4A3T1=2Y40)
31 ATa0
1. &a»1313Y NCUYSATY»iA¢ 692,496.0 692,496.0 -
I'33U31»A840AI80Y V»AC SRE3 T A0V»AC
E40C3E313Y +3A»A4T SE3NAT40U
(BT ICAZTT3I £FC3%4740AI40YY»1)
- 2t Y= Y»h pliadc»Co 4729 692,496.0 692,496.0 -
2. 2640cdiAI3Y 2&3N4T= - AdoAl46Y 160,784.0 160,784.0 -
- 283413 -A3T3Y I3Eé»A 4215 160,784.0 160,784.0 -

3100|110 | O PA@U=2T20 ~“2AEUU°840U 4 _2é7a0 4,280,256.0 5,014,800.2 20,000.0

a2padéT=2U£U nal _ ©s

31 ATa0

3110\ 11| 1 | O | PP I363T7ZA4iAI3Y ~ N3UZYaY»Ag¢ 4,280,256.0 5,014,800.2 20,000.0
a3Naoe T3y yayr
&RCo

3112| 11| 1 | 2 |bb NS3USYUY»AC &=Nasen=3ICY yayr 4,280,256.0 5,014,800.2 20,000.0
31 ATa0
- a=Nasew3(CY UCcaoY»h 4891 4,280,256.0 4,260,256.0 20,000.0
-D3UWT=640U &3N66 W=ICY yAY1Co yaY1r3(CY plddc» X - 754,544.2 -
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